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Question 2
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On the Tacoma Narrows Bridge, each cable can be
modeled by the function y = (x—1400)° +27

(a) What are the minimum ang maximum distances
between the suspension cables and the roadway?
(b) Whatis the distance d between the two towers?
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Key Term
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Graph of Intercept Form y=a(x-p)
* axis of symmetry:

* half way between (p, 0) and (q,0)
* Xx-intercepts:
* a>0:
» a<0:

—q)
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Question 3
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Graph: y=-x(x—4)
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Rechan
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Question 4
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If an object is propelled straight upward from Earth at
an initial velocity of 80 feet per second, its height after
t seconds is given by the function: y =—16¢( -5)

(a) How many seconds after it is propelled will the
object hit the ground?

(b) What is the object’ s maximum height?
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Question 5
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Write y =3(x —4)(x+6) in standard form.
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Question 6
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Write f(x)=-= (x+8) +35 in standard form.
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4.2 — Graph Quadratic Functions
in Vertex or Intercept Form
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Key Term
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Quadratic function (in vertex form):

* Vertex:

* Axis of symmetry:
* a>0:

» a<0:
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Question 1
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2

Graph:y:%(x+2) -3




